251N
NPRIPRT NPRPID HW 2AVBN NS

P(X

.Q(x) owon nbymn mawp P(X) 2109197 nhyn X 0ws NP % NP9IPEA TEPID
X

SOWD NPHIPET EPNDY XY 1N DD P1H N3

2°1259K 2073w D PXAIN

125w

SW 01202 2w NR XN 71012 7300 DR POAY W 71007 DAY ANW IR 2172 717 NoYn OX
R(x)
Q(x)

D197 nYymn mup R(X) 219 nhyn ko PRI PEPNDY 2w PoNn

.Q(x)

225w
D132 ST239RT 02w YW 7105 IR P97 W1 19107 NRTAR TI0R AR DRI IWRD X
.0°7277 SW 01902 PM2AVRT 02w NI DX DW? w0 .2
.7912 ©°72 177 TR 9 5w DIALIRT IR MNDY W0 A

RBNT
3
X 8
: :(x2—2x+4)——
X+2 X+2
ax+b
5 AME 2°7731R MND? Tl
X"+ pX+(q

X277 19IX2 M2wn AR 2w 1 ) Q'(X) = 2X+ p w 2 o

2(2x+ p)+ b—pza

a
N2 01K DR IND9 1% WwN t = b—% 1001

x2+px+q
e
X%+ px+q X* + pX+q

12X NV DTV N n’yw MMIR PWRIT 2T 2w PIA0IRT DR

4dx 530K DX NDD TINDH IRW]

X2+ px+q
NPT
j ﬂdx 930K DX MN0]
X2 +2x+1
Q'(X)=2x+2 w2y owa
J- 3x+5 oS .[ 2x+2 +2J- : 1 i
X2 +2x+1 X2 +2x+1 X“+2x+1
.—J' 2X+ 2 ix= §In(x2 + 2x+1) 92P71 72X DWW NP2 MND? IN°I PWRIT 21
X2 +2x+1 2

4d j 1 ~dX=—"- 1X27 19IX2 NS "W AN

x* +2x+1 (x+1) X+1
j 23X+5 x:§ln(x2+2x+1)—i 3p13"M0

X“+2x+1 2 X+1



J‘;dx

X® + pX+(Q
1 77pn
p*-4q=0
j 5 L dx:j 1 SOX=— 1 WA 001 A1 AIpn2
X%+ pX+q (x+n) X+N
RanT
.6°—4.9=0 v 1% o1 4d
X2 +6%x+9
N NP S
X2 +6Xx+9 (x+3)? X+3
2 7pn
p>-49<0
X277 19182 X° 4+ PX+Q DX 2179 10
2 2 2 2
49-p
2 pxrq=x2epx+ P yq= x+£) +
P+ P 4 4 g ( 2 4

1 +b
42dx = —arctan— ST 9IADIRA WHnwl
(x+Db)* + a a

A7

_[ L j ! dx _[ L dx = _[ 1 dx = 1arctanE
X* +4x+8 X? +4x+4+4 (x+2) +4 (x+27+22 2 2

3 apn
WX =a,X, =B nano w v X° + px+q=0 axnwn m p>—49>0

X+ px+q=(x—a)x-p)

TuerR wrp [ 1 - J' 1 dx=—t | L1
X2 + px+q (x—a)x-8)  a-B'\x-a x-p

N9 DOVTY AMIRY
X7

I 5 L dX:I =—I(———) == |—dx-=|——dx=
x> +4x+3 (x+1 Nx+3) x+1 x+3 29 x+17 29 x+3
1 1
Eln|x+]j—§ln|x+q
P(x)  ax+b
'\/Q(x) U+ px+q
X271 192 N2wA nX 2w 11 ) Q'(X) = 2X+ p w 2% 0w
pa
2

TR DP9TAIK NOY NYW1A T

2 ox+ p)+b-

(
. pa 2
IR D0IRT IR NND 17 WY t=b—— n01
2 X2+ pX+q
,[ 2X+p Xt

1
d
27 X%+ px+q t‘|.\/x2+ PX+q §

712X NV NIV NNDY DOVTY MR PWRIT 27 O 2IR01RT DX




J —dx 530K DX NDD TINDH IRW]

X2+ px+q

1 mpn
p?—4q=

dx:f dx = In|x+n|+C o 11 mpna
X+ N

'I\/X + pX+q . I (x+n)2

Xn27

;dx
VX2 +6x+9

=_[X+3dx In|x+3+C

.62—-4-9=0 w 2% o°w3 j

'[\/x +6x+9 ‘[\/ x+3

2 apn
p°-4q<0
X277 1P X + PX -+ DX 01w 10
2 2 2 2
4q-p
X2+ px+q=x2+px+ 2 P g x+£) —
e d P 4 4 g ( 2 4

j—dx In((x+b) (x+b)2+a2) T HIVIRI WA

\/(x+b)

! ! dx = j—dx In ((x+2)+ (x+2)2+4)

'[\/x2+4x+8 X:j\/x2+4x+4+4 ,/(x+2) +4

3 mpn
X+ px+q=(x+n)’—m* w73 mn 535 1w p?-4q>0
I L dX:I = dx=In|(x+n)+ (x+n)2—m2 +C
2 2
\/X + PX+(q \/(x+n) m
NRMT

(X+2)+4J(x+ 2)2—12

'[ x+4x+ N '[/x+2
4 7apn

=X - px—qzmz—(x+n)2 WD MmN 9P Iy pP—49>0

e e

dx = arcsm— +C

RPMT
dx = arcsin(x+2)+C

1 1
. dx =
J-\/—x2—4x—3 " '[\/12—(x+2)2
5930

oW (3507 NPIAN FI0R 7307 NPT R"T) DPIRVINYR 0°I2W 2w 01907 P1PDT NTIX IR 2w
N7 2723987 N2



x> —X+5
X (X +4)
11np
X¥-x+5 X -X+5 1 —X+ 9

'xz(x2+4) xz(x2+ 4)+ xz(x2+ 4) v xz(x2+ 4)

—X+5
012308 D2V 9V 01900 ————— NN D117 W3
X (x + 4)

-x+5  Ax+B Cx+D

= +
xz(x2+4) X2 X2 +4

2995017 Naxa 1Py —1 17

A B,C,D nXawnb 921 mRnwn vaIx 72p1 —2,—1,1, 2 0°19070 DR X DI1pR2 208

.0°10p 0°7907 2°%77 °K70 272

Dapn x=1 2%

2_]_2+5 :A-I;B+(:2+D:f:A+B+E+E:>4:5A+$+C+D
P(P+4) T F+4 75 5 5

Dapn X=2 2%

25 _2A+B X+D_ 3_A+B Z4D_ 5 jparmigs D

22(22+4)_ 2? 2’+4 32 4 8

92PN x=-1 2°%1

15 _-A+B _C+D_6_ , g.ZC*D . 6__sasmm_CiD

= +
1.(1+ 4) 1 w4 5

92PN X=-2 2°¥1

2t5 _Z2A+B ~L+D_ 7 _—A+B ~BD_;_  jearmog+ D

22(2+4) 2 2.4 32 4 8
MIRMWAT N9YA DX NDY w°
5A+5B+C+D=14
1 16A+8B+ &+ D=3
4 4 |-5A+5B-C+D=6
-16A+8B-8&+ D=7
-X+5 :_X+5+ X—95
X (x*+4) 44X+ 4)
W 92p12"10
X*-x+5 X -x+5 1 -x+5 x-5 -x+5 x-1
xz(x2+4)_xz(x2+4)+x2(x2+4)_x2+4Jr 4x? +4(x2+19_ Py A(x2+4)




